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Using the table for Concession Stand Sales, find the following:
1.  The marginal distribution for drink sales





2.  The conditional distribution of food sales among soda drinkers





3. The conditional distribution of drink sales among pizza eaters
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Using the table for Smoking by Weight, find the following:
4.  The marginal distribution for smoking category





5.  The conditional distribution of weight category among non-smokers





6. [bookmark: _GoBack]The conditional distribution of smoking category among overweight people
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Concession Stand Sales
Soda Water No Drink Total

Hot Dog 50 62 46 158
Pizza 120 58 4 182
No Food 30 20 10 60

Total 200 140 60 400
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Frequency Table of Smoking_Cat by Weight Cat
Weight_Cat
_Cat | Underweight Normal |Overweight Total

Non-smoker 5 543 1903 | 2499
Light (1.5) 2 375 578
Moderate (6-15) s 23 06 575
Heavy (16-25) 7 B 618 1046
Very Heavy (> 25) 113 325 469
Total 178 1462 3527 | 5167

Frequency Missing = 42




